FIELD REPLACEABLE UNIT DOCUMENTATION
Satellite

4030/4060/4070/4080/4090/4100 Series

BATTERY PACK REMOVAL OPTIONAL PCMCIA CARD REMOVAL

Battery pack

Battery release

PC ard Eject button
1. Tum the computer upside down as show; 1. Fullout the eject button of the PC card to be
2iSile the ptery releselever inhe Giecton of the remove:
2. Press the eject button and rzmove the PC card
3

Pulhs bty pack sighty orward snd ot
it aut

KEYBOARD REMOVAL

s
8]

.: Latch KEYBOARD REMOVAL

Keyboard holder Keyhoard metalbrace  M2xd brass screw
1. Open the display panel 3. Remove one M2xd brass screw and lift out the
2. Unlatch the Keyboard holder at the five points keyboard metal brace

and remove it

TOSHIBA

Tough Enough for Today’'s World.



FIELD REPLACEABLE UNIT DOCUMENTATION
Satellite"

4030/4060/4070/4080/4090/4100 Series

KEYBOARD REMOVAL

Keyboard top

P21

Keyboard cable

Keyboard

M25x4 black screw

4. Liftout the Keyboard and lay it on the palm rest. Be
carsful notto apply pressure on the keyboard cable

5ol sa M2 Sl blck screw a7 it
keyboard top cover betwszn the speal

6. Disconne ct the Keyboard cable from P.IZ1 on the
system board and rsmove the Keyboa

HDD REMOVAL

HDD slat cover

1. Tum the computer upside down
2. Remove one M256 black s crew securing HDD
slot cover and pull out the cover.

EXPANSION MEMORY REMOVAL

M2x4 black
screws

Memory
cover

Wemary
module

Memary clips

1. Turn the computer upside down

2 Remove two M2x4 black screws and remove the
memory cover.

3. Push the memory clips outward and pullthe
memory module out ofthe connector on a
45 degree angle

M25x4
black
screw

HDD bracket handle

3. Remove one M2.5xd black screw securing the HDD
4. Grasp the HDD bracket handle and pullto discannect

TOSHIBA

Tough Enough for Today’s World.



FIELD REPLACEABLE UNIT DOCUMENTATION
Satellite”

4030/4060/4070/4080/4090/4100 Series

MODEM REMOVAL

Modem board

Modem cable  M2:3 siver screws  M25 brass screw
1- Ramovs two M2:G silver screws and one M2x5 brass
screw securing the modem boa
2.1 g the righ il of e saadomm BB 348 (4isHa R
from the system boar:
3. Disconnzct the modem cable from PJ2 on the modem
TOP COVER REMOVAL
FL cable

M2x14 brass screws PJ4

speaker cable

M25xdblack  Membrane  PJ20
screw switch cable
2 Tum the computer igh sids up and opan the
display
$: Ramiors twe MIYE black scrows-and one
M2.5x4 black screw securing the top cover.
4. Disconnect the following five cables
-LCD cable from PJ3
- FL cable from PJ4
- Membrane switch cable from PJ20
- Left speaker cable from PJ6
Right speaker cable from PJ7

TOP COVER REMOVAL

M2.556 black screws

M2.5x20
black

screws

M2520
M2x16 black screw BISciSEic

—_——
M2534 black screws

Turm the computer upside down and remove the

following thirteen screws

-4 M2.5x20 black screws

-3 M2.56 black screws (one from HDD slot cover)

-5 M2.5x4 black screws from battery slot and back
of the computer

-1 M2x16 black screw

Top cover

Volume
contral

Display assembly

5. Liftup the back and left side of the top cover about
m1to release the left latch on the front (arrow! and 2)
Pishto tie igh (w3 o clea e vollma control
from the to
6. Rotate the top cover and display assembly foward to
release the right latch

TOSHIBA

Tough Enough for Today’s World.



FIELD REPLACEABLE UNIT DOCUMENTATION
Satellite”

4030/4060/4070/4080/4090/4100 Series

HDD AND BATTERY BOARD REMOVAL

M2.536 brass
screw

HDDMattery board U750 Sensor cable

1. Remove tape securing the plastc insulator
2. Disconne t the following cables from the

-Battery power line cable from PJ753

Battery power
fine cable

FDD REMOVAL

1- Discannactths FDD flexdble cable fam P12 on the

system boa

2. Bomi one M2 548 hex stud and one M25xd brass
s crew securing the

3.Remove four M2.5x3 brass screws securing the FDD

-Sensor cable from P75
3. Remove one M256 brass screw and plastic brace.
4 Liftup the HDD/battery board

CD-ROM/DVD ROM DRIVE REMOVAL

tothe racket.
4. Disconnect the FDD flexl

e cable from the FDD,

flexible cable

CD-ROM:
connector
4. Remove two M2x6 brass s crews securing the

1. Disconnect the CD/DVD-ROM flexible cable from PJ17 CD-ROM connectar assemb,

onthe system board. 5. Separate the CD-ROM connector and the connector
2. Remove one M2.5x4 brass screw securing the brace from the CD-ROM drive.

CD/DV-ROM drive 6. Disconnect the CD-ROM flexible cable from PJ760
3. Slide outthe CD/DVD-ROM on the CD-ROM connsctor
Remove two M2x3 screws securing the side brace.

PJ760

PUIT M25x4 brass screw

TOSHIBA

Tough Enough for Today’'s World.



FIELD REPLACEABLE UNIT DOCUMENTATION
Satellite”

4030/4060/4070/4080/4090/4100 Series

CPUBOARD REMOVAL

Fan cable PJI1 Tape

1. Remove tape and disconnectthe fan cable from PJ11
on the system boar

2. Remove two M2xd s crews and one M2x14 screw
securing the heat sink to the system board in the
following order: 3-2-1

3.Lift out the heat sink from the front side

COOLING FAN REMOVAL

1. Remove two M2xd flat head silver screws securing
the cooling fan
2. Take out the cooling fan from the heat sink

Fanvent

4.Grip_the processor module from the side opposite to
the fan vent and pull it out from PJ1 on the system
board

RTC AND BACKUP BATTERY REMOVAL

RTC battery cable  Backup battery cable

1. Open the RTC and backup battery cover

2. Disconnect the RTC battery cable from PJ702 on the
sound boar

3. Disconnect the backup battery cable from PJ701 on
the sound boar

4. Lift out the RTC and backup battery.

TOSHIBA

Tough Enough for Today’'s World.



FIELD REPLACEABLE UNIT DOCUMENTATION
Satellite"

4030/4060/4070/4080/4090/4100 Series

SYSTEM BOARD REMOVAL

M25xd brassscrews  M2.5x4 stud screws

L V254 brass
screws

Insulator

M2.5xd flat
head screws

Sound cable

PJ700

1- Removs the insulator and disconnect the sound cable
from P. n the sound b
B Ramovs e lolowing nink sccews securing o
system board and PC card slot cover
-3 M2.5x4 stud s crews
-4 M2.5x4 brass screws
-2 M25x4 flat head brass screws

MEMBRANE SWITCH REMOVAL

1. Remove two M2x4 brass screws securing the
membrane switch.
2. Lift out the membrane switch

HDD/Battery cable

C card
slot cover
3, Lot i syatar bosrdat i ot éid and ramos
C card slot cove
4 D\s:unne:t the vuuuwmg cablssfrom the system board
DD/battery cable i
. Batlely s Cable from P01
- Sound cable from PJ302

SPEAKERS REMOVAL

M2xd flat head screws

1. Remove two M2x4 flat head screws securing sach
speaker

2. Remove the tape securing the speaker cables and
fiftout the s peakers.

TOSHIBA

Tough Enough for Today’'s World.



FIELD REPLACEABLE UNIT DOCUMENTATION
Satellite"

4030/4060/4070/4080/4090/4100 Series

SENSOR AND SOUND BOARD REMOVAL

M25x4 brass screw
1. Disconnect the sound cable from PJ700 on the sound
board,

2. Remave one M2.5x4 brass s crew securing sound board,
3. Lift out the s ound board,

13.3 TFT DISPLAY MASK REMOVAL

s 9]
-

Display mask
)

LCD module

Mask seals

1. Remove two mask seals at the bottom corners of the
display assembly

2. Remove two M2.56 brass screws

3. There are 22 latches securing the display mask
Carefuly insert your fingers between the display mask and
the LCD module and pry open the latches starting from the
topsix latches. to the five latches on the right
v bl sV 4rcing il e Ak BoNam MEChSS

FL INVERTER AND 13.3 TFT LCD REMOVAL

M2536
brass
screws

cable

FL cable

M2556 brass
screw

FLinverter board

1. Remove tape and one M2x5 brass screw securing
FLinverter board

Carefully lit up the FL inverter board ai

disconnecttha FL nvertar cable fom Tt and

cable

byt sy ——

LCD moduls

Carefully rotate the LCD module from right to left

of the LCD cover.

Disconnectthe LCD cable from the LCD modulz and

remave the LCD from the computer.

TOSHIBA

Tough Enough for Today’'s World.



FIELD REPLACEABLE UNIT DOCUMENTATION
Satellite"

4030/4060/4070/4080/4090/4100 Series

13.3 DSTN DISPLAY MASK REMOVAL FL INVERTER AND 13.3 DSTN LCD REMOVAL

L LcD
module

]
S Latch

brass
screws

Display mask 256
) \ serews

L.CD module Foam
) insulator
e . HV cable
FLoible M25Xbrass  FLinverter board

Lco
cable

Mask seals
screw
Removs two M5 brass screw sscuring FLinvert

display assembly. ]

1. Remave two mask seals atthe bottom comers of the

2 Remove two M2.546 brass screws 2 Cz\e!tu lit up the FL inverter board and

3. There are 22 latches securing the display mask disconnect the FL inverter cable from CN1. Rem
Garsfull inssit your fingars batwean the display mask and {1 Taum insutator on the WV cabla 304 Gsconnect e
th.LCD madula s iy open the laiches saring i e HV cable from
top six latches to the five latches on the right 3. Remove four M2.5x6 brass screws securing the

and left sides, ending with the six bottom latches LCD moduls
4. Carefully rotate the LCD module from right to left

of the LCD cover.

Disconnectthe LCD cable from the LCD modulz and

remave the LCD from th compute

TOSHIBA

Tough Enough for Today’'s World.



FIELD REPLACEABLE UNIT DOCUMENTATION
Satellite"

4030/4060/4070/4080/4090/4100 Series

14.1 TFT DISPLAY MASK REMOVAL FL INVERTER AND 14.1 TFT LCD REMOVAL
LCD module

Mask
seals

M2x5
brass
serews screws

=5
FLinvertercable  M2)5 brass  FL inverter hoard

Mask seals

1.Remove two mask seals at the bottom corners of the 1.Remove one M2x5 brass screw securing FL inverter
display assembly.

2.Remove two M2.5x6 brass screws. Carsfully lft up the FL inverter board and

3 There are 22 latches securing the dis play mask disconnect the FL inverter cable from CN1 and
Carefully inse 1t your fingers between the display mask and the HV cable from
the LCD module and pry open the latches starting from the 3. Remove four mask seals to expose four screws
top six latches to th five latches on the right securing the LCD module.
and left sides, ending with the six bottom latches 4 Remove four M2X5 brass screws securing the
LCD module
5. Carefully rotate the LCD module from right to left
of the LCD cover.
6.Disconnect the LCD cable from the LCD module and

remave the LCD from the computer.

TOSHIBA

Tough Enough for Today’'s World.



